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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / Wﬁﬁtﬁﬁm AT RITHI BT Udh
X 21 TUPT U 3SIE0T &:

1. Global Developmental delay / dfRIe faera 3 &3
2. Obsessive-Compulsive Disorder/ Seeil-aredeRl [aeR
3. Anxiety disorder / ddrd fahR

4, Autism / 3iifesH

Correct Answer :-
o Anxiety disorder / ded faddR

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution.

This rule is called as:/ “@TIHIA® MY YUt H, T THTYT 9P Uga- & o fdt off yovR & wawufaa
oy sryar faarR 9 geraar @ 9o €, 59 fAUW &) 31 $eT ST 82

1. rule of thumb/ 3IHATEE HIA (Tl 3T UF)

2. differentiated rule/ ARG fAga

3. mimicking rule/ 3feJh0T fHTH

4. cognitive rule/ TATATCHD AT

Correct Answer :-

« rule of thumb/ IFHATEG AIH (¥ 3T Uo)

3) Which is not the step of scientific method? /
frafafea # @ Si9-31 g yomel &1 @R 78 82
1. Experiment / 91T

2. Interview / d1&TchX

3. Prediction / qaTgHTA



4. Observation / 3Tddllchel

Correct Answer :-
o Interview / HI&TchX

4) According Jean Piaget, children develop abstract logic and reasoning skill
during i

T RIS & AR, & 2R gedl F 3oy aF IR & sk BEfda @ g
1. Concrete operational stage / ¥ TRRITCHD ATAT

2. Formal operational stage / 3ituarie @fharcas rawm

3. Preoperational stage / qd-@ftrarcas 3m@eam

4, Sensorimotor stage / HIE W JHEIARI( FATAT

Correct Answer :-

« Formal operational stage / 3{tuamies HichATcHD HaEAT

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual,
group and organizational learning and development. It means learners ___ /

vs Fa-fadfia aftaer ufhan, safFaera, aefe 3R Farearcas e 3k R i gl
e fr.udE waw afFaene Afser g1 swar Adew ¢ & sftemwsar _ |

1. take responsibility for learning and become goal oriented / AT &Hr Sederr oar ¢ 3R H&'&Tﬂi’@
I ¥l

2. compete with others / GEI & T gfdeuyl wdr Bl
3. achieve the best scores / 37TST URUTH UTH HIdl %I

4. enjoy learning / 31T &7 3T of T &l

Correct Answer :-

« take responsibility for learning and become goal oriented / 3TfQIH &I [HFASHT odT g 3R H&ﬁ?ﬂ@
qAe B

6) In which stage of psychosocial development does the child feel shame and doubt? / IFﬁ%ilTﬁﬁ?
faer ¥ forg avur §f 9= Y IR SR g WegW BT 82

1. Preschool / Eﬁw

2. Adolescent / fRRTaEAT



3. School age / ¥hel 31T
4. Early childhood / &3l dTeIehIct

Correct Answer :-

« Preschool / WIERdT

7) Proper sex education should be rendered at stage. / 3T gl faw aEar
W Yge @ S Tifgel

1. Childhood / dTedbTel

2. Adolescence / fepMRTaE2AT

3. Adulthood / IIFPH

4. Early childhood / TRfH& aTeddrel

Correct Answer :-

« Adolescence /ﬁFQIIIIEIFQJT

8) The ‘Hypothesis of Critical period’ was proposed by . ‘Hﬁﬂ}i’ afdr fr IRFega
& AR yFarad @ 15 o

1. Helen Keller / gl hoold

2. Noam Chomsky/ STH aTFEhT

3. Bloomfield/ Se[d@thIcad
4. Eric Lenneberg/ TR CEEE]

Correct Answer :-

« Eric Lenneberg/ TR CEEE]

9) Who is credited with the concept of Intelligence Quotient (IQ)? / gﬂ'ﬁl’?«lﬁﬂ'
(IQ) ¥ TR HT A fFa 7T sITaT 82

1. Theodore Simon / f2ABX dISHA
2. Spearman / TARRAS
3. Alfred Binet / 37o%hs [t



4. William Stern / Taforga e

Correct Answer :-

. William Stern / Taferaa Ted

10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens
through: / RTer & 39N, dlgfs e gar & seqgas & aAreas & g ¢ a8 Fas
ATEIH & g 87

1. Absorption and Accommodation / 3TdRNYUT 3R FHIA (THIASLA)

2. Acquisition and Autocorrelation / Uiy 3 T@a: WETQT

3. Assimilation and Accommodation / 3TcHTATCAUT IR FIHTA (THIASA)
4. Assimilation and Acclimatisation / THITH U @Tqﬂﬁﬁ:{

Correct Answer :-

« Assimilation and Accommodation / 3TcHATHIUT 3R TFHASA (THIASAA)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of
information is called process. / eae I3 & AR, 9§ UiHAT St T F AT,
e R IuAer # A g 8,39 ufdhar Fgr Ser §

1. Cognitive / TJMTHD
2. Affective / THTT
3. Self regulation/ T AT

4, Motivation/ 9T

Correct Answer :-
« Self regulation/ TT fAIHA

12) What concept of conservation focuses on the amount of a substance that exists? / TI&TOT T @lsT AT

Rigeria fret Aisper gard A Amm w FRT 82
1. Weight / agi1d
2. Area / &1 9%d

3. Mass / gl

4. Length / aT$



Correct Answer :-
e Mass / gcIHATA

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? /
T FIT-W FAETCHF aHAr quf W § 9 § IEGIAT Y AT o F TG FQ 82

1. Egocentrism / 3&HT (3IMATegod)
2. Conservation / HI&0T

3. Animism / Sddrg,

4. Object permanence/ &g ¥ Rica

Correct Answer :-

e Animism / Siiddie

14) Some children experience excessive anxiety at being away from home, even after a long period of
time. What might they be suffering from? / $& T A AT dF W & I T & ag 8, W A I
g1 W It Rar #1 sgee & ¥ 9 e @ AT @ awva 82

1. School phobia / ¥fel HIfaT
2. Social anxiety / AT IR AT
3. Conduct disorder / 3ITTROT fIHR

4. Separation anxiety / 3Tel9TTd T fidr

Correct Answer :-

« Separation anxiety / 3TeTeTg &1 fie

15) An example of self-report measures of personality is/ SdfFded & HTcH-RUIE 3UTAT FT TH
3ETET &

1. MMPI / THUAWSMS

2. Sentence Completion Test / dTeFT '{USF g&ToT
3. Rorschach Test / T TLT&Tor

4. TAT / &TdY

Correct Answer :-

« MMPI / THUHUISMS



16) Intense mood swing is a characteristic of / g q3 aer fAFT &1 8T §:
1. Learning disorder / 37TQ9TH &7
2. Bi-polar disorder / fa‘giﬁ BEIR

3. Conduct disorder / 3TEROTITT TIhR

4. Anti-social personality / 3THTHTTSIh T Tthed

Correct Answer :-

» Bi-polar disorder / %“'{Cﬁ ECan

17) Which of the following best describes Maturation of a learner? / &=ifaf@a & & a1 v Rrameft
&1 IRUFTAT FT TIH HTOT qUIT FIT 82

1. It is a continuous process of individual development/ Ig TATHIT fadrE HT Th TAdd Ufham gl

2. It is related with cognitive capabilities/ T& TAAICHD &TATIT & Fafdd &l

3. Specific environment is required/ fAfE aTATaROT T 3TaTRAT Bl el

4. Tt takes place at specific age/ & TafAE g A BT '

Correct Answer :-
« It is a continuous process of individual development/ U =Ifherd farg & wep gaa ufehar %I

18) Which type of memory takes special account of context? / fhT &R T Fﬂ'ﬁ' el #T Ay e
@dr 8?

1. Iconic memory / Ufaf8d 7

2. Echoic memory / gfdtafa ¥fd
3. Episodic memory / wrdfates T
4. Sensory memory / Hder W

Correct Answer :-

« Episodic memory /Ur&fie EFfa

19) Students who disturb others in a classroom are likely to have type of learning style./ SiY
S FET # qEA FT WA FA ¢ a9 99 yFR 1 faa i df g Fr woraen
gl &l



1. Kinesthetic/ IIfaTdeT (Prsa+Afes)
2. Tactile/ TAFAT (EaFeTsSdl)
3. Auditory/ HdoT

4. Visual / €T

Correct Answer :-

« Kinesthetic/ TITAIFAET (FrEaATAfEH)

20) Who carried out an experiment on memory involving nonsense syllables? / fFaat Tfd 9 v wahr
o, s awarw eregier anfae 42

1. Ebbinghaus / ufcaerard
2. Atkinson / Uefhde

3. Posner / O

4, Calkins / draifhd

Correct Answer :-

+ Ebbinghaus / ufegarard

21) Who proposed the concept of zone of proximal development? / fA®eTy RAFIT & &7 $r gUROT
1 g&ad fFaa @

1. Abraham Maslow / 3TSTgH HEC
2. Lev Vygotsky / old dT3aNcachl

3. Carl Rogers / Tl T

4, Albert Bandura / 3odc Eingr

Correct Answer :-

o Lev Vygotsky / ol aTsaNcHhl

22) The spinal cord develops earlier to the heart. This is because of the operation of the following

tendency. / §iF #r g3 g7 ¥ 0¥ RAwRAT k<l ¥ 77 AT ygfr & wares & Fwor g @
1. General to specific / 1T ¥ fafreg de

2. Cephalocaudal / Tthellasel

3. Proximodistal / TR AITSECS



4. Part to whole / 9T & FEJ;U‘T SEMR I [ gieT)

Correct Answer :-

« Proximodistal / MFHHAISEC ST

23) The following is an example of a secondary reinforcer. / ﬁmﬁﬁaaﬁmgmamwm
gl

1. Ice cream / TSI
2. Dress / QIQITh
3. Money / 91

4, Juice / IH

Correct Answer :-

» Money / 9T

24) Maladjusted children are generally seen in / STHIId: Wﬁﬁ I I@1 @ I &
1. Broken family / fo@y giRarR &

2. Rural areas /JTHIOT &A1 H

3. None of these /38 & PIS el
4. Poor family / IR1g gRar &

Correct Answer :-

« Broken family / @ uRar &

25) One learns to use one’s muscles and acquires a skill due to: /
TF gfFd, ARG HT 39T FAT HE@ar § 3R 7S FROT v Flerd qIod FIAT &
1. Maturation /
RIRCESEI
2. Exercise /
¥

3. Learning /
JfRreTH



4. Parents’ force /
7fRITIRT BT IR
Correct Answer :-

e Maturation /

26) During the emergence of language, the ‘jargon’ period is present during / 39T ¥ 3T F gRI,
“QregATel AT AR aftr 3@ gR=T el &:

1. Nine months to one year / @l #FgA ¥ TH ay
2. Birth to three months / 3= & A1 dAgd

3. Three to six months / d & ©: FelA

4, Six to nine months / &: ¥ A #FLA

Correct Answer :-

« Six to nine months / &: @ at AL

27) During the first half of the 20th Century, students, those identified as
having special needs, received few or no special services in the schools.20 / Cil

ATl F IR BARI eI,  orEl, [T qgae QA 3maedsdr @«
aret & w9 N 7 off, 3 wqel F To AT P QAT a1 7@ Freh oy

1. Above average / 3 @d ¥ 31fA®

2. Exceptional / 3TATYROT

3. Mentally retarded / AP &7 J HAg

4. Poor / 38T

Correct Answer :-
o Exceptional / 3TATYRUI

28) VARK model of student learning was proposed by: / ST 89T &1 arh HISH 3% GanT
gEaiad f&ar aar an:

1. Kohlberg/iﬁ?ﬂ?‘f
2. Neil Fleming / el FelfdaT



3. Piaget / TUamat
4. E. Erikson / §. 3Ra9

Correct Answer :-

« Neil Fleming / STl Tl f3aT

29) Which of the following is the best way for parents to support and help children cope with
failure? / fFafaf@a & ¥ la-w1 ATaT-RNargErT ==t # 3@Faar & Ao § gads
g 3 3T AgE F FT FIH IHTOT dUFT §?

1. Create a comforting environment for the child to engage in another activity to forget their failure / G|

HA B YA & T = Bl foret o TfAfafy o Rd A 8 U SRS GRART HT FHI0 ST

2. Listen, empathize, then focus on opportunities to learn, not abilities /QFHT, H’é‘l‘g’ﬁﬁ% T, T
@ & ATET W AT dhigd e, J b §77ar3i |

3. Create an environment for our kids that shelters them from potential failure or disappointment /
3 gear & fow 0 akayr &1 @aAr FF S 3¢ gefad awear a1 faRwer &
Ta |

4. Push kids beyond their capabilities / Sl P 3! &HATS H TR b1 AT G HRAT|

Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities /Qj?-l?-IT, H’&‘T@’?ﬂ% I, 28
AEga & I W I Bigd Al d fh &JA7qEt |

30) Inquiry approach method develops the ability of learners for / T&daT® ef¥®ivr faftr I Rrenfiay #t
=1 & fore arvar &1 fae gian 8:

1. Using the experience of a teacher / Teh fRr&T&h & aama?rwzﬁqal I

2. Assimilating more information in less time / @dl THT H ITAUD SATADRT I HTHATT PAT|
3. Experimentation / U=TaT

4. Maximizing verbal learning / #1T& 3T &l STade HIHAT db TEIT

Correct Answer :-

« Experimentation / ORI

Topic:- General Hindi (L1GH)

1)



YT H1a & T gfrar ot srdfarawt for ave o ¥ 3t g3 & 99 afieRur a1 e argeiRE $gd 8
ISTEXU1 & o TSI HI AT | ATSHITHE BT gSPIe NG H 1 59 $UN & ATHAIR & $ 3
YR 3R 31 &3 =0 F 91d &1 WIS AT & Arvedsr Tt giar A swuma 5 o €1 smifve &1 %
TeX TP 3T ITeXV 6l Pl 8|1 BIS B HR A98 A g1 & 3R 93 & -1t w1 At & R &5 3= o
STt & 1 39 SraTar 39 U & AR sy [t g 331 & 991 817, Wie dee fadt siR 3w, @mge, R =g
R freft o 3= & 991d @111 R & AT T UTd SrenT ST dER §RT WIS Hier &1 Iwms fhd 9id &,
R To 1Y SieHT SR T1S St §1 37 Goft fbar-waral @ Tt g # IR & erawR ter 81d €1 59
T g 1 srferawat gunfaa gt 81 oy oft et 3= IeuTe a1 War & IR F A gwd ¢ et Iared
g & fafira urT & giar 81 399 3y wR 3t srdogawnsii & ureR fAlvan &1 o= gar g1

AT AR % et it &Y B B0 Fear 81 9 o gar faswed ghm {6 srue 3=1 & € 10 weamn
R WgT 59! anTd i Mt SrTar faswed ghm fb 39 w1 & fhd} U9 =1 F FHrawn 9, SEl gaPt
ARG &4 IR g5 91w 3 fF 315 ft sreht g fwer &) gt uRa, walkmn, 99 ik aga A v
AT HH BT W Uy § 3NT 39 320 # woigr ff I # e wira &1 S99 SuTe &) @d $1 81 9rdl 8 3R
I BT dgaR YATHT giaT 8 | SHRA TS 3MY B3 e Wiled 3, df IUP $© UTE HATRMT a1 argar o
1 819 ¥, TR YR & o1 81T @ SR Wireda SRt & Imar 21 Sifew Iare 39 &9 # a7 § o6l 54
AT ST 81 78 TR Pt TATN: e WG TR & SATeIaR TTedh! 1 fHat ane & @i R g ik agf s@
F ISR WU g1 Pt GHTGAT g1, A ST D1 AT I Fe & R IS 9 B Ao a1 S| fsdt
T IR § 713 UG B AR B (9] T¢18 o Tbdl 31 3T & R | fay B $a ardt &1 v NS
SﬁwmmﬁmélQﬁﬁﬁmmﬁaﬁwﬁﬁmﬁéﬁﬁﬁwmaﬁwm
Ea |

ITYe TR B! TSP AR U Y U= BT IR 9130
Y: ABFITE FT HEIATGT Fal 67

1. AN

2. G

3. g
4. 3Tl

Correct Answer :-

2) 3nyfew F1a § T g Y srdegawt oy @re ooy # 91 g% & 39 afiwrur a1 WiearseRe $gd 2|
ITTEXU1 & o USRI B AT | ATSHNITHE BT gSPIe SUNRDT H 1 50 HU & ATHAR & $ 3
YR 3R 31 &3 =0 F a1d &1 WIS AT & Arvedsr Tt giar A swuma 3 o €1 smifve &1 wis
TeX TP 3T ITeXV 6l TPl 8| BIS B HR A98 A Fd1 & 3R 93 & -1t w1 st & R &5 3= o
STt & 1 39 SraTaTr 39 U & R sy [t g 3z & 991a 817, Wie dee fadt siR 3w, @mge, R =g
R freft o 3= & 991d @111 R & AT T UTd SrenT ST dER §RT WIS Hiex &1 Jwms fhd 9id &,
R To 1Y SieHT SR T18 St §1 37 Goft fbar-saral @ ot g # IR & erawR ter 1d €1 59
T g 1 srferawat gwfaa gt 81 oy oft it 3= SeuTg a1 War & IR F A gwd ¢ et IareA
g & fafira urT & ghar 81 399 3y wR 3 srdogawunsii & ureR fAlvan &1 o= gar 81

T ifore f fadt duit ot HIS w18 HRamT 81 39S o) ugan faswey gl fb srue 3=1 A € o1 weamn
R WgT 59! anTd i Mt SrTar faswed ghm f 39 w1 & fhd} ¥ 3= F FHrawn WY, el gaPt
ARG ®4 IR 75 91w 3 fF 315 ft sroeht g eer &) gt uRa, walkmn, 99 ik aga A v
AT HH BT W Uy § MR 39 330 # aoigr ff I # e wirat &1 S99 ITeT &) @d $1 81 91l 3 3R
I BT dgaR YATHT gidT 8 | SHMA TS 3MY B3 e Wiled 3, df IUP $© UTE HARMAT a1 argar o
1 819 ¥, TR YR & 91 g)aT @ 3R Wireaar SfveT & omar 21 Sifew Iare 39 &9 # a7 § o6l 54



AT ST 81 78 TR Pt TaTN: e NG TR & SATGaR TTeh! - [hal Iare B @il R g ik g s@

F WIS U 811 B GHTGT 81, @ FHT I YT f9og g & ford Is 7 HIg FioA1 a9+ vt fsdt

T SR # 78 U] ) dUR B fIp 9e18 o Thdl 81 3 & SR | fay 3 $a rard) &1 v TS

Eﬁwiﬁ;r;nﬁjmﬁmﬁlﬁﬁﬁvﬁmmﬁsﬁ‘wﬁaﬁa@?ﬁ%ﬁﬁﬁwmaﬁwm
4 [

ST TR P UgHR A2 IR Y U= $T Ik Farsy|

W HUFIGT AU IATG AR HH A & I Fa1 et 72
1. S8l edl AT AR #F TEAT & d8l AT dl1el &

2. ASIGYT BT STl P &

3. %A Ida &l ©

4. JUTTAT F FHSANT A &

Correct Answer :-

3) 3nyfre s1a A T gfrar Y srferawr g @ oo # 9 g8 & 3@ Sftewur ar Wiearg e s €
IaTeTUN & o IS INITHE HI AT | ATSHINITH BT gsHIe UR®T H 1 39 $UN & ATHRAR & $ 3
YR 3R 37 H3 =0 § §Id § | AIShIaive & Airedsr Tt gf-ar ¥ swaura 6 oird §1 srfve &1 vis
TeX TP =T ITEXVI 6l TPl 81 BIS Bl HN A98 A IId1 & 3R A9 | a1t B1 faspt & o &5 =i o
STl §1 3P SraTar 39 HU- F R aied fedt omg 39 # 7 817, Wi e fpalt sk awr &, @mse, R g,
R fareft o A & 99 @11 R & AU Tl UTd SrenT SrenT dER §RT WIS Hier &) s fhd oid €,
2 TP A1y SieHT R T1S et 71 37 Faft Frar-waral @ ¢t gfan & AR & SR Ter 81a €1 399
T g &t srforavr gurfaa gt 81 3y oft fpeft sy IeuTe 91 a1 F IR T WY THd § et are
g & faftra urn A ghar 81 399 Ay R Y srdorawunsit & e Al &1 w1 gar 81

A= AT for foreft Sut &) FIE FH FIGT 81 IS9P o ugen fawey enm & 3rua 31 7 € 14 Hearn
ST ST8T S9! AnTd 3if¥e Smuft| 3nTen fawey ghm fh 39 1w &) forelt ¥ 21 # FRarar 9Ig, Sigl 9@t
ANTa B4 A1 g 91w 3 fF 315 ft Froeht g e &) gl uRa, malkm, 99 sk agaa A w1
AT HH BT IR Uy § 3R 59 33 #H Aoigr Wi I § e o &1 $99 ITe &) &d HH §1 A1l g 3R
FHI BI IgaR YATHT 51T § | SARA F 3T HIS HIYEX TG §, df SAP O U TARMT AT argar o
T g €, MAWR URd § S 81T © 3R AR MRt A 3irar 31 Sifaw Iare 39 &1 § 9471 8 Wl 39
AT ST 81 72 TSR P TATT: e R R & Sa1erar el 1 fHdt Iae & @i foran g ok agf s@ 7
F IR WU 11 BT UTGT 81, @ FH B AT faeg 9o & o) #1g  HIs Ao 941+ vt fpeft
T 9OIR ® 78 UTed! ) dUR o fIs 9g18 o Ahdl 81 3 & SR | fay 3t $a srard) &1 v Durs
%ﬁwmmﬂmélﬁﬁﬁaﬁaﬁmﬁsﬂ\wﬁaﬁmﬁ?ﬁﬁﬁﬂwm'ﬁm&m
R [

ST TR F UgH 1 U T Y= T I«ik Farse|
UR: BIS PR HU U1 IR UIEH TP g RIH W 49701 32
1.3 § PIE el

2. 3TEIT-3T69T TATA

3.8

4. G



Correct Answer :-

o 3TcTIT-3eldT FUTA

4) 3y o1a & T gfrar Bt srforawt o/ ave oM # 1 g8 € S Afierur a1 /e argeivd $ed g
3ISTE0T & ford ATSHIATIE &) ifoTT | AISHINTUR &7 gs@Ic? ARSI A 31 39 $U-l & AEAR & $T 3=
YR 3R 37 &3 =0 F g1a &1 WIShaive & Arvedsr T gfrar A swuma 3 o €1 smfve &1 w1
TIeR TP 3= ISTEVT Bl hdl g1 BIs I PR AAS | ad1 & 3R A9 A g o1 At & ford &3 3= ao
ST €1 39 ATar 39 HUH & R iRy faasdt o 31 & 9994 817, die dee feft siR 31 &, wmge, R g,
iRz foreft o 39 A 39 8171 BR & AT I UTE 3enT 3T IS GRT BIS AR & Hwrs f$d W1 &,
R To 1Y SieHT R T1E St ¥1 37 Goft Fbar-saral @ ot g § Aok & erawr ter gld €1 59
gt gferar & srferaw yuifaa gt 81 oy off fondY 3= Ieure a1 Tar & IR A A Add § Rra®T Sare
g & faftra e & giar 31 39 Ay wR 9t srdegawureit ® e ket 1S glar 21

7 AT fr foreft Suit & FIE FH FIGT 81 IS9P o ugan fawew eRm 6 3rua 31 7 € 19 Hearn
ST STgT S9! AnTd 3if¥e Smuft| nTen fawey gh  fh 39 1w 3 forelt ¥ 21 # HRarar 9, Sigl 9@t
NI H4 AT T 91w 3 fF 315 ft st g e &) gt uRa, malkm, 9 sk agaa A v
T $H P W SUAH g 3R 39 320 A Hoigr Wi I A e ot &1 599 STed &) @ &4 gl 9l 3 3R
P Bt g% YATET BT 3 | FARAA TG 3ATY Pig IR Tiled ¢, d STb $S UIE TARMT a1 arga o
T 213 ¥, TR HRA § 9911 81T @ 3R Tiredar srifvet & amar @1 sifed Icure 39 3w § a1a1 @ wief 39
AT AT 1 718 SIOIR B aelr=n: i R IR & Sa1eTar At A fhdt 3aure &t @ile R @ sk agrs@ =
F IR WU 811 BT JYTGHT 81, @ FH B AT fao g 9o & o) #1g 7 HIs Ao a=1-1 vt fpeft
T4 IoR # 72 UTEh B IR D& (] T¢TS o el §1 TS & SR | f3y B pat mard) o1 v TS
:%l_grr?h:a;nﬁ?mﬁm%lﬁﬁﬁﬁhmmﬁsﬁwﬁaﬁmﬁ%ﬁﬁﬁwmﬁwm
R [

ST TR B! UGHR A ID 7Y U $T Ik 9a13¢|
U: BIs &1 o1 fHg e & 991 82
1. oRE

2. SieRYe
3. AT
4, arfRITe

Correct Answer :-

5) YFF 1A A T g B srderawit o avg oo | 9S1 g% § 39 afierur a1 Wiears ot $gd 3|
ITTEXUN & o AISh NI B AT | ATSHITHE BT gSPIe SUNDT T 1 50 HU & ATHRAIR & $ S
YR 3R 3= H3 =0 H g4 & | AT Iaite & Airedsr T gf~ar ¥ swaura 6 oird 81 smifteT &1 Bis
e TP 3T ITeXV 6l AHdl 8| BIS B HR A78 A g1 § 3R 93 & -1t w1 st & R &3 = o
STt &1 39P Iamar 39 HU & R s fHedt omg =1 ¥ a9d g1, Wi de f5dt siR 3w 1), @rse, g,
IR frlt o/ 3= & 9919 8171 SR & AU [l Uré SreT SenT IR §RT BIS Hie o1 Jwrs f6d od &,
1 T 91U Sied &R o918 wird! 1 57 99t frar-warl @ gff gfrar # AeR & e A1 81 €1 3o
Tt g 1 srforawat gwifaa gt 81 oy oft et 3=y SeuTg a1 War & IR F A gwd ¢ et Iared
g & fafira urTl § ghar 81 599 3y wR oY srdogawunsii & wreR fAiRar &1 o= gar 81



U AT for foreft Suit &) FIE FH FIGT 81 IS9P o ugan fawew eRm 6 3rua 31 & € 1 wearn
ST T8l 39! anTd 3if¥e Smuft| nTen faweu ghm fb 39 1w +) farelt ¥/ =1 # FHRamar 9, Sigl 9@t
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FHI BI IgaR ATHT a1 8 | TAR d 3T P13 HIYEX TG &, d SqP O U TARMT a1 argar o
9 8 &, MW HRA § 497 g1a1 @ 3R Aty rfvet @ amar 21 sifaw Iaurg 39 3w § aaT @ ol 59
AT ST 81 8 TR Bt TaTN: e NG TR & SAIGaR Tedh! o bl Idrg B @il R g ik agf s@ =
F WIS U 811 B GHTGT 81, @ FHT I AT fIog g & o $Ig 7 HIg FioAn a9 vt fadt
T TR ® 78 U] ) dUR o fasp 9e18 o Thdl 81 31MS & SR | fay 3t $a rard) &1 v DuTs
aniﬁ;r;nﬁjmﬁmﬁlQﬁﬁaﬁmmﬁsﬂ\wﬁaﬁmﬁ%aﬁsﬁﬁwmﬁw&mﬁ
R |

IUa TR P UgHR 1Y YR Y U= $T Ik qarsy|
URH: OF 3T HI§ HEE Wied § @ ITF IR U U 3§ 74 g1d 32

1. 3To19T-37e19T foeir &

2. 3TCIT-HeldT At A
3. 37e97-37eT9T SRlt H

4. 37I3T-3edT IMal 3
Correct Answer :-

o 37CIIT-37eT9T &2 A

15) 3nyfe w1a # Tt gfrar 3t erferawyr oy avg smuw A It g5 € S Afiwvur a1 /eiaegeRE wed
T 1 31ERUT F ford ArshIATTE o1 AifTT | AT AT &7 gs@ld? ARSI A 31 39 $U- & ARAR & $5
I YR 3R 39 F3 o= § 994 § | A Iaide & Aivedsr It giar & swama ford o 81 srifyet &1
TS Hie? TP 3 IS8T 1 JHdl 8| BIS Bl B A8 A a7d1 ¢ iR I8 A 911 H1¥ At & o 3 3=
TP STl &1 3P S(ATaT 39 HUT b R aieq [Pt s 3=  a1a 819, ¥ie dee fasdt oz 3w o, @mge,
frar o iR foeft ora 3=1 & 991d 817 | SR & @y it uré 3ot SreT 98X GIRT Wis Hiex & 9wrs f6d



STd &, o Ue A1y s d) SR 94918 91l 71 59 9 fobar-wamdl 3 gt g § ISR & 3G Uer id §
39 T g @Y srdferawit gurfaa gt 31 3y off fasdt o Ieute a1 Jar F IRk H W ghd § oI
Iare givrar & faftm ur & giar 31 599 fay wR 9t srfarariteit & R frlkar &1 51 gia 21

AT AR % fft it &Y HIS B0 Fear 21 39 Rl ygan faswey ghm % oA =1 & € w1 wearan
ST STgT S9! ATTd 3if¥e Smuft| nTen fawey ghm fh 39 1w &) forelt ¥/ 21 & FRarar 9Ig, Sigl 9@t
ARTd HH 1A g8 91w @ f ®ig Wt o g fAweu &1 gl | URa, gk, 69 ok agae & v
AT HH BT W) Uy § 3R 59 33 § Aoigr Wit I § e o &1 S99 IUTe1 &) &d HH §1 91l g 3R
FHI BI IgaR ATHT a1 8 | TARM oF 3T P13 HIYeX TG &, dl SqP O U TARMT a1 argar o
1 813 8, TR YR & 91 811 @ 3R Aieedar SAReT @ orar 21 Sifaw Iare 39 U # aaT ¢ Siel 54
AT ST 81 0 TR Bt TaTN: e N TR & SATGaR Tedh! o bl Idrg B @il R g ik g s@
& SR GUA §IH Pt AUTGAT g1, T ST BT AT fIo T & R B 9 B Gror1 a1 S | fonsdt
T TR ® 78 U] ) dUR o3 fIs 9e18 o Ahdl 81 3 & SR | fay 3t oo rard) &1 v DuTs
e 9 ok YR & vgar 1 ¥ A St ot et aiftre faht Amed @ @ 3 & eyl aIR) B TeRaiE
T8 B gbdt|

IUa TR P UgHR 1Y YR Y U= $T I} qarsy|

we: T g 1 srferaw o wre oo A It §E 39 1 Ed 72
1. HEIHIOT

2. EIBRIALOT

3. ITSTRIIOT

4. dAfrepToT

Correct Answer :-

o JAfYRToT

16) &8 e w v & §
¥ fraar Al f afsar?
Pl T & Iy Tw ¥
¥ 35oad R A FRAT?
I ¥ AR SAHT A
Fl 9w § I THIA?
A F A A T A
FiT gHFa § oY gHEA?
T T ¢ FheT Sl
YA EX FT A GATT?
Yedl W, Gl W, TG
@t go @ § e
93 FR AT T E



FiT gelt & 77 darei?

g 39aeT A ST & ¥

e draraelt farelt?

St g, &1 3| Foil &

el # oY WX & F?

goTh AT fAvE AR a0

3 W HiadT & I35

3YYFA ISIIT Y TgHT Al & AT dTel G FT el IRV
We: B H Ffa A ¥ 3NT i FAT @A 8T 872
1. QM

2. AT

3. fterar

4. d¥eldr

Correct Answer :-

o QT

17) & o w @ & €
¥ frwer Al A i
FlT T & 7 T @
¥ 3ooad R A1 FRAT?
I ¥ SAAT AT A
i 9AFA § I THIA?
TN F Aeg At A A
Fla gxdha § A gHEA?
T AT § FlT Sl
el "X & T GATAT?
Yedl 9X, Fell W, 99T
@y gu @ § @
93 WA AAT W@ ©

wi gelt & g5 darelr?

I 3G A Sem &Y ¥



e graraelt farel?

St g, &7 3| Foun &

el # oY WX & IMI?

FoTeh AT @ oRE #

3 W FAdT tF T3]

39T UEIIT H TGH AT B A G WA FT el qamgv]
yee: FfF &F IHTAR el F € 6 FT FAT JerT 82
1. U erd

2. G

3.99

4. HISTel |THA

Correct Answer :-

18) &8 urw w v & ¥
¥ fFaa A fr afsar
Pl T & Iy Tw ¥
¥ 3soad ERT 1 FRAT?
S ¥ AR SAHT A
i 9w § 9 THEEA?
qHF dog A A A
Fi g § It gHeA?
T AT § Fl Sl
el "X T T WATAT?
Yedl W, Fl W, TG
@y g @ ¥ aem
3 G AT @I #

Fie gt & g7 darelr?
a 3qae & Srer & #
e draraelt farel?
St gar, s 3| FOi @



3stell 7 oY WX & 3MH?

b Ao favw favw a0

T W HAdT TH T3]

39T UCIRT H TGH AT IF A G WA FT el qaqmsv]
wee: W F Higd W 7T FA FAT F@AT AEAT 87

1. pfaar forgar

2. I H sehe

3. QI &l

4. HATT HLAT

Correct Answer :-

o HIAAT Torgar

19) &8 g W RET & &
T fraer At f afdar
FieT TT A AT TAT B

¥ 35oad R A FRA?
I SAAT SATHT A
Fl gAwa § It gHETA?
AH FAg ai & &
FiT gHFa § Y gHEA?
T AT § Fl Sl
YT "X T M GATAT?
Yedl OX, Gell WX, 99T
@t go 1@ § e
a3 TR AT @ E

FiT gelt & 77 darelr?
g 39ae # ST &Y ¥
e raraelt farelt?
it gar, =1 3| FOi @
3orell # HT WX o AF?
garehr e fow favew &T



T W HAdT TH T3]

39T UEIRT H TGH A IS A q WA FT el qaqmsv|

WeeT: HiT Ud # Y AT ERY Hr AF3AT FEgw Ffa F1 FFa Few 32
1. gaar Hr 3R

2. fepdll 3T 78

3. AJST T 3R

4. Upfd & 3T

Correct Answer :-

o Upfd &1 IR

20) & o oT RaT & ¥
¥ fFaa A i afsar
Pl T F oy T ¥

¥ Iooad ERI i FRAT?
ST @ STTHIT SArAT
Fla gHFd § I gHTA?
AN F Aes AT T ¥
FlT gHSFA § AT SHSHA?
T AT § Fl Sl
el "X ST AT GATAT?
Yedl W, Fel W, Fardar
@y gu @ § @

93 WR AN @

FiT gelt § 77 darer?
g 39ae ¥ ST & ¥
e raraelt farelt?
St g, &7 3| Foi &
el # oY WX & IF?
gohy AT fAvE AR a0
3 W FiAdr & T3]
3YYFA ISIIT Y TgHT Al & AT dTel G FT e I3l



WeT: A9 X 8 & WA Y PleT el AT §?
1. 9]
2. Sl
3.91Y
4, IETY

Correct Answer :-

21) &8 g W AT & ¥
¥ frwer Al f i
FiT Ta # I T R

¥ 355ad ERI A FRAT?
I ¥ SAAT AT A
i 9AFa § A THIGA?
TN F Aeg ari ¥ A

FlaT gxdha § A gHEA?
T AT § FleT Sl
el "X T T GATAT?
Yedl 9X, Fell W, FITdr
@y gu @ § A

¥ WA AT W@ E

wi gelt & g5 darelr?
a 39a F Stem & ¥
e draraelt farel?
St g, &1 3| Foun &
Jsrell # X WX & IMF?
FoTh AT @ oR@ #
3T W HiAdT TH qA15]
39T TSI H TGH AT I3 A G ToA FT el qaq1sv|
weeT: et Uq F FATT §, AfFT FA F 71 T@F Fag Qargelt v q@m?

1.3 @ HIS AG



2.3 T IS & ol dr gq@d @R
3. fd BT HH F3M
4. ®fd F FAT Al ¢@T

Correct Answer :-

o N W GRS A Aol & gavs @A
22) & g oT AT & ¥

¥ fFaa A i afsar

FiT Tq A AT TAT R

¥ Iooad ERI i FRAT?

I SAAT SEHT A

i gHFd § I gHTA?

AN F Aes aRI T ¥

FleT gadha § A gHEA?

T AT § Fl Sl

el "X ST AT GATAT?

Yedl 9X, Fell W, 99T

@y gu @ § @

93 WR AN @

FiT gelt § 77 darer?

a 39 F oo & §

e draraelt farelt?

St g, &7 3| Foi &

el # oY WX & F?

gohy AT fAvE AR a0

3 W FiAdr & T3]

3YYFA ISIIT Y TgHT A & AT dTel G FT e I3Vl
yee: gell, Fel AR FeA-FeA W TH e & A1 996K & F41 @y ge §2
1. Tl

2. |

3. 3de



4. IR

Correct Answer :-

23) g g o AT & ¥
¥ fFaa A i afdar
FieT TT A AT TAT B

¥ 35oad R A FRA?
S, & ST SAHT ¥
Fl gASHS § A THIA?
AN FAg ai & I

FiT gHFa § Y gHEA?
T AT § Fl Sl
Yt "X T M GATAT?
Yedl OX, Gell WX, 99T
@t go 1@ § e

a3 TR AT @ E

FiT gelt & 77 darelr?
g 3Uae ¥ v & ¥
fFaa draraelr fawre?
St gran, =1 3| Foi &
3orell # HT WX o AF?
garehr e forw favew &¢
T W HAdT TH T3]
39T UCIRT H TGH A IS A q TRA FT el qaqmsv]
WeeT: 3N FUIN ) YA AT H X FT H1F F@1 o J AT@r 87
1= #

2.8 #A

3.90T #

4.9d #

Correct Answer :-



24) &l g o R@T & §
¥ frasr Al & afdai?
FieT TT A AT TAT B

¥ ooad R A1 FRA?
I SAT SEHT A
i gHFd § A gHTH?
AN & Aeg aRi T

FleT gadha § A qHEA?
T AT § Fl Sl
Yt "X ST AT GATAT?
Yedl OX, Fell WX, 99T
@t gu @ § e

T3 WR FAT @R

FiT gelt & 77 darer?
g 39ae ¥ v & ¥
e draraelt farelt?
St gran, =1 3| Foi &
el 7 X WX & 3MF?
gerehr e fow v &¢
3 W Fiadl & T3]
3YYFA ISIIT Y TgH Al & ST qTel G FT el IRl
9ol wfd o W Hr H FH N A AT Far 87
1. AT A

2. 355del ERI &hr

3. Uoed &

4. 91 hr

Correct Answer :-

o 3oodd BRI &r



25) g8t g W AT @ §
¥ fFaa A i afsar
Pl T & Iy Iw Y

¥ sooad @R A1 FRA?
S ¥ SAAT SATHT A
i 9w § I THIA?
TN F Aeg At A A

FiT gHFA § ot gHEA?
T AT § e Sitedr
el "X T T GATAT?
Yedl W, Tl 9, Farqer
@t go @ & e

3 gAY AT W@ #

Fi gelt & g7 darelr?
g 39aa F e & ¥
e draraelt fawrel?

S gy, s 3w ot @
ool # HY WX o WF?
goTehT AT @ oRa #
g W FHiAdT TH FAT5]
39T YT F TGH AT IS A G WA FT el qamsvl
ye: & o WA A F frw wmg F R ¥
1. IR

2. M

3. ¢Ad

4. 98d

Correct Answer :-

26) &Y o ¥ fA@T & ¥
¥ fFaar A fr afzar



Pl T & Iy Tw ¥

¥ 35oad ERI @ FRA?

I ¥ SAAT SAHT A

Fl gASHS § I gHTA?

A FAg ai T A

FlaT gHFa § A SHSA?

T AT ¢ FheT Sl

YA EX FT A GATT?

Yedl W, Fl W, T

@t go @ § e

a3 FR A @R

Fl gt # 7z darelt?

g 3qaa ¥ ST & ¥

fFaa daraelr fawrel?

St gdT, T 3| FU

3ol 7 X WX & 3MF?

gereh! M fow o &

31 W HIaT & T3

39T UCIRT H TGH A IS A q WA FT el qaqmsv|
wee: ‘SAST AT oRw fARw v # foR@a ¥ 41 aread 22

1. UgATeTeTT
2. ST
3. ST

4. WGl

Correct Answer :-

27) &0 o W R @ §
¥ frasr A & afdai?
FieT TT A AT AT

¥ ooad R A1 FRA?



I SAT SEHT A
i gHFd § A gHTH?
AN F AR AR A I
FieT THAFA § T qHGH?
T AT § Fl Sl
Yl "X ST A GATAT?
Yedl OX, Fell WX, 99T
@t gu @ § e
T3 WR FAT @R

FiT gelt & 77 darer?
g 39aeT ¥ ST &Y ¥
e raraelt farelt?
St gran, =1 3| Foi &
el # X WX & 3MF?
gerehr e fow v &¢
3 W Hiadl T T3]
3YYFA ISIIT HY TgH Al & ST qTel G FT el IR0l
weoT: {1 faOl uge W AW F Iwew 4 frw e awEa 82
1.5 § PS5 AR

2. TIET P e

3. I3 P e

4, MY HT e

Correct Answer :-

o I3t B e

28) e o W R@T &
¥ Faa A i afsar
FieT Ta # Ay AT F

¥ 355ad XY #r FRAT?
I § SAAT SHT A

FiT gHFS § I THAA?



AN F dAeg AT T ¥

FlaT gwdha § A gHEA?
T AT § FleT Sl
el "X & T GATAT?
Yedl 9X, Fell W, TITdIr
@y gu @ § @

a3 WR A @8

Fi get & g5 darelr?
g 39ae & ST & ¥
e graraelt fawrei?
St g, &7 3| Fon &
Jrell # X WX & IMF?
goTh AT fAvE oRa a0
3T W FHAdT TH FA15]
39T UEII H TeH A B A qd WA FT el qamgvl
U Fgl VAT Il S FIE AR T FTATRT FR-AaY Rarelr AT W8T §2
1. g AR

2. Ya-wfergral #

3. O-3TarT

4, qraT-gaf H
Correct Answer :-

o grT-gafrat H

29) &0 @ W AT & §
¥ fFaa A fr afsar
Pl T & Iy Iw Y

¥ sooad R A1 FRAT?
S ¥ SAAT SATHT A
i 9w § I THIA?
TN F Aeg At A A

FiT gHFA § ot gHEA?



e AT § e Sitedr

el "X & M GATAT?

Yedl 9, Tl 9, Farqer

@t go @ & e

a3 W A T E

Fi gelt & g7 darelr?

q 39aa F e & ¥

e draraelt fawrel?

St g, g s FOn &

ool H HY X o WF?

goTehT AT @ oR@ #

g W HAdT TH qAT5|

39T YT H TGH AT IS A G WA FT el qaqmsv|
weeT: g8 ' UX Al Y a3 Fa A Fr wer =4 g7
1. 3009 @l

2. GF hr T @

3. qut &l

4. 9TH T

Correct Answer :-

« 3 A

30) &t g W REw &
¥ fraar At f A

Pl T & Iy Tw ¥

¥ 35oad R A FRAT?

I ¥ AR AT A

i 9w § I gHETA?

A F A ai T A

FiT gHFA § oY gHEA?

T AT § FheT Sl

39l G FT T GATT?



Yedl W, Fel W, T

@t go @ § e

T EN AT @R

For gt 3 7 drareh?

g 3Uaa F ST & ¥

fFaa daraelr fawred?

S g, T 3| FUN

3srell #H #T WX o HF?

garehr e fow favw ¢

3 W Hfadr F T491F|

39T UCIRT Y TGH A IF A q WA FT el qaqmsv|
Yee: AH & A arl A e A F gHEES §?
1. geaetua feorw

2. qHGH

3. dege ferw

4. Telrdiue forw

Correct Answer :-

Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day



However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

The man'’s journey is:

1. A solitary one

2. Not lonely at all

3. Comfortable and relaxed

4. A few miles long

Correct Answer :-

» A solitary one

2) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

All man’s in his life.



1. a walker
2. a traveller
3. a tourist

4. an explorer

Correct Answer :-

e atraveller

3) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

“Oh! What fantastic troubles” — this line

1. shows that there are great challenges that man has to face in his lifetime
2. describes how the man is enjoying his troubles
3. shows that the troubles were easy for the man

4. describes how challenging the troubles are

Correct Answer :-

e describes how challenging the troubles are



4) Read the poem carefully and answer the question given below:
Destination so far away

Miles and miles to walk

Oh! What fantastic troubles

With no one can he share or talk

Miles and miles walks each man
A traveller in his own way
A traveller in his own life

He has to travel all day

However, occasionally a wise guide
Appears to this travelling man
While on his way he helps him find

The lord’s will and divine plan

What is the main theme of the poem?
1. Travelling to new places

2. Friends

3. The journey of life

4. Walking

Correct Answer :-

» The journey of life

5) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn't know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!



What did Tamar think was crunchy in texture?
1. Spaghetti

2. Olive all

3. Cheese

4. Capsicum

Correct Answer :-

e Capsicum

6) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn’t know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

What does this passage describe?
1. Beauty

2. Milk

3. Food

4, Clouds

Correct Answer :-

7) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn’t know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in



texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

What does the word scrumptious mean in this passage?
1. Tasty

2. Cloud-like

3. Healthy

4, Glorious

Correct Answer :-

8) Read the passage carefully and answer the question given below:

Tamar first laid eyes on this beauty when he was 13. For some reason, he had never seen anything
as beautiful as this. It was dressed in red with a little glisten from the coating of olive oil it had all
over its body. It looked like wriggly snakes all piled up together, garmented with fresh, green basil
and cherry tomatoes. It had sprinkling of something that looked like uneven clouds broken and
sprayed on its surface. He didn't know what this was so he took a little bite into the white uneven
clouds bits and he thought it tasted a lot like salty solid milk. It was scrumptious! He then saw
chopped green, yellow and red capsicum chunks that were waxy on the outside but crunchy in
texture, distributed unevenly over this beauty. It felt altogether glorious. He had just met spaghetti
and fallen in love with it for life!

In this passage, spaghetti is compared to:
1. Tomatoes

2. Basil

3. Worms

4. Snakes

Correct Answer :-

¢ Snakes

9) Fill in the blank with the correct option in the given sentence:
His involve- in the programme helped in making it a grand success.

1. -sively

2.-d



3. -ment

4, -ion

Correct Answer :-

10) Fill in the blank with the correct option in the given sentence:
The scientist had to work very hardto _______ his invention.

1. refine

2. refinement

3. refinery

4, refined

Correct Answer :-
o refine
11) Fill in the blanks with the correct pronouns in the given sentence.

After school, and friend always meet up for studies.

1. he, his, theirs
2. me, my, your
3. I, my, our

4. you, my, their

Correct Answer :-

e I, my, our

12) Which of the following options best combines the following sentences?
He was a good player. He was selected.

1. Being a good player, he was being selected.

2. He was a good player, but he was selected.

3. As he was a good player, he was selected.

4. He was selected and he was a good player.



Correct Answer :-

* As he was a good player, he was selected.

13) Choose appropriate articles for the given sentence:

Many foreign leaders cameto __ capitalof __ India to watch Republic Day parade.
1. a, the, no article required

2. the, no article required, the

3. no article required, the, the

4. a, no article required, a

Correct Answer :-
« the, no article required, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

I was given a lift by my colleague when I was late to college yesterday.
1. My colleague dropped me at college when I was late to college yesterday.

2. My colleague was given a lift by me when I went to college yesterday

3. The lift was given by my colleague to me yesterday while going to college.

4. When I was late to college yesterday, my colleague gave me a lift.

Correct Answer :-
« When I was late to college yesterday, my colleague gave me a lift.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

This lugubrious work of art was set up in white marble after his death in St. Paul's cathedral, where
it may still be seen.

1. humungous
2. joyful
3. animated

4, doleful



Correct Answer :-
o doleful

16) Choose the appropriate tenses to fill in the blanks in the given sentence:
me. I to concentrate.

1. Don’t distracting, was trying

2. Don’t distract, am trying

3. Don’t distracted, tried

4. Distract not, try

Correct Answer :-
o Don’t distract, am trying

17) Choose the appropriate antonym for the highlighted word in the given sentence.
The presence of her children should alleviate her sorrow.

1. Allocate

2. Accelerate

3. Assuage

4. Aggravate

Correct Answer :-
e Aggravate

18) Choose the appropriate conjunction for the given sentence.

A heavy storm was forecast the weather was clear.
1. but

2. because

3. unless

4, and

Correct Answer :-



19) Choose the appropriate prefix to fill in the blank in the given sentence.
A further fall in prices provided a great --incentive to investors.

1. ab--

2. ill--

3. im--

4, dis--

Correct Answer :-
e dis--
20) Choose the appropriate prepositions for the given sentence:

Several countries today are suffering food shortage, and unfortunately some people have
to do it.

1. in, besides
2. against, without
3. of, on

4. from, without

Correct Answer :-
« from, without

21) Choose the option that best explains the highlighted expression:

She took the line of least resistance because it was a lost cause.

1. a thread with no tension

2. the course of action which is the easiest to take even though it is not the right thing to do
3. to surrender the object and gain admission into

4. to support whole heartedly without any second thoughts

Correct Answer :-

» the course of action which is the easiest to take even though it is not the right thing to do



22) Choose the option that best explains the highlighted expression:

He is a plain, simple and sincere man; he will always call a spade a spade.
1. help one and all

2. be outspoken

3. very diplomatic

4. very sensitive

Correct Answer :-
e be outspoken

23) Choose the option that best transforms the sentence into its Indirect form:
“Stand here and don‘t move,” He said to her.

1. He said her to stand there and not to move.

2. He told her to stand here and not to move.

3. He told her to stand there and not to move.

4, He told her to stand there and do not move.

Correct Answer :-

e He told her to stand there and not to move.

24) Choose the option that substitutes the given phrase appropriately.
A person who eats human flesh

1. Jain

2. Carnivore

3. Vegan

4. Cannibal

Correct Answer :-
e Cannibal
25) Read the sentence carefully and choose the option that has an error in it:

The accountant stole thousands of dollar by juggling the company's books.



1. the company's books.
2. The accountant stole
3. by juggling

4. thousands of dollar

Correct Answer :-

e thousands of dollar

26) Change the given statement to indirect speech.

He said, "I have been working in a company for two years.”
1. He said that he have been working in a company for two years.
2. He said that he had been working in a company for two years.
3. He said that he has been working in a company for two years.

4. He said that he was working in a company for two years.

Correct Answer :-
» He said that he had been working in a company for two years.

27) Choose the right tag:

The kids dance very well, ?
1. do they

2. were they

3. aren't they

4. don't they

Correct Answer :-

o don't they

28) Fill in the blank with the most appropriate preposition in the given sentence.
We went for a run the rain.

1.1in

2. with



3. for

4, at

Correct Answer :-

29) Choose an appropriate modal for the given sentence:

Priya spoke very well. She __ have prepared in advance for her talk.
1. must

2. will

3. shall

4., can

Correct Answer :-
e must

30) Choose the most appropriate determiner in the given sentence.
Would you like cup of tea?

1. any

2. another

3. the

4, some

Correct Answer :-

e another

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /
fFafafaa & @ $19-91 53 [uife & T4y & Id 32
1. On multiplying any integer with 0, we get 1. / 0 & &1y farsit +f quifes &Y oM B3 WR, &H 1 U Ban B



2. On multiplying any integer with its multiplicative identity, we get 1. / et ¢t quifes @ 3@®% I[OTIcHD
dcadAD & HIY 0N HA W, &H 1 Ud S &

3. For every integer, 0 is the additive inverse. / Ucd& quiie & fow, 0 v AecaAd ufdea &

4. On dividing any integer except 0 by its additive inverse, we get -1. / O & Bz fReT off qouiis @ 3T
ATeAD Uldetd d faiad e W), & -1 uid giar &

Correct Answer :-

« On dividing any integer except 0 by its additive inverse, we get -1. / O Pl BISHL fhell M Quiler P ZHb
AQTcA® ufaend & fanfea @ w, & -1 ug o ar &

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each
person gets? /

afg 1368 $UA FI Y=RIT 24 AN & St faafva 1 ot g, @ IS i 3t fasa-t 0fky forerdht 82
1. Rs. 122 / 122 ¥UT

2. Rs. 53 7 53 %UU

3. Rs. 153 / 153 U@

4. Rs.57 / 57 T4

Correct Answer :-

« Rs.57 7/ 57 ¥qU

3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total
area. /

TP T e W TH HST 12 T DI TR d¥8 A HIAT § 3R 7 T b1 3147 HRdT 8| P &A% I
P

9% sq units / Q%Eﬁf EEDES
1. s I
, 13 2 sq units / 13 Z@ef gwrs
; 152 sq units / 15 - @t Z&E
4. 19 sq units / 19 T HS
Correct Answer :-
15~ sq units / 15~ gef SH1E



4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-
fourth of the floor is covered with blue tiles of side 10 cm. Another one-fourth of floor is covered
with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the
number of blue and red tiles used. /

4 ez dar 3R 3 WieR disT te Bl i, T 3R a1e T F TER ersal A SbT §3M 3| BRI BT TH AT
YT 10 I Tt Y1 arad i TT5al A THT g1 81 B BT Uh 37 FIATS T 15 I BT Y1 a1dt 88 [T Bt
TTSAl | ST §3T 31 Y & 20 A YT aTd AT SISl § T g9 8 | SUANT e 1 i ok aret ergat ot
=T 91 B
1. Blue =300, red = 150 /

AT = 300, @el = 150
2. Blue = 300, red =200 /

dArell = 300, @l = 200
3. Blue = 150, red = 300 /

dArell = 150, ol = 300

4. Blue = 150, red =200 /

Arelr = 150, &Tel = 200

Correct Answer :-

e Blue =300, red =150 /

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give
Rajeev’s age. Suma is 5 years older than Rajeev. What will be the age of Suma after 3 years? /

G, A 3R IH BT TG HHI: 10, 6 3N 13 &1 ITD! 3ATY BT AN Ieiig St 3ATY 31 JHT, I F 5
g 5t 21 3 aul a1g GuT Bt 3y fhat grfi?

1. 34
2. 30
3. 29

4. 37

Correct Answer :-

e 37

6) Another name for Formalism is ./



TEUaATG (BiHfere) & fRre 3=y - ol
1. Abstractionism / HATIFOT (TqEerATATH)
2. Deductivism / l@sidefdsa

3. Logicism / dc(rwicﬂcr)dllru\ldqm GUEIEET:)]

4. Induction / E5FAT

Correct Answer :-

« Deductivism / fBsfaelasa

7) If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, then its
radius is ./

u%wﬁa;aﬁﬁmam”mﬁmmsn%’awwmssoaqlﬂar%,a‘rsﬂﬁﬁm
|

1. 6cm / 6 Q&Y
2. 7ecm/ 7 @Y
3. 5cm/ 5 @Y

4, 45cm / 4.5 @A

Correct Answer :-

=x?+ax+b

8) 1r the zeros of the polynomial p(x) are -2 and -3 then % and b are: /

qﬁwp(x} =x’+ax+ bmw_z iR -3 %,?ﬁﬂ@b%':
1.5&-6/51Td -6
2.5&6/5Td 6
3.-5&6/-5Td 6

4, 5&-6/-5Td -6

Correct Answer :-

e 5&6/5Td 6

9) Which of the following explains the commutative property?/

frafaf@a § @ si-a1 pafafiy 1 $) saren o1 82



1. 103 +(25-35)=(103 +25)- 35
2. (at+b) = (b+a)
3.35-22=(22-35)

4. a(b+c) = abtac

Correct Answer :-
e (atb)=(bta)

10) Which one of the following statements is correct about number? /
fFufafad &  F19-91 FY=F J=I & Jd99 § T4 82
1. Every number is a factor of one. / Udid TAT T T Ucdh gidl |

2. 2 is the only odd prime number. / 2 ThHA fawg G{‘J-HG‘IFT@T%I

3. 2 is the smallest prime number. / 2 Ha& BIET IHTST T&AT &l

4. One is a prime number. / 1 T&h 3{HTT TBAT B |

Correct Answer :-

e 2is the smallest prime number. / 2 T8 BIET AAST TEAT &l

11) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as
high as 3 meter but slides down 2 meter because of slippery wall of the well. In how many jumps
will the frog reach out of the well? /

% Hew 12 Hew TR Ue $a3 # FRar 31 U8 a16r A &1 SRR #3d1 31 Ud® 9R 9 98 o g af
g 3 Hiex SWR Ugd 1T § A Ha & fraa ardl SR & srRor 2 dex i o omar 81 $U 9 arw
frpaq & e dew & fra-l IR o ©2Tm?

12) In ALMN 2M=70° and LM=NM. Then £N= /

ALMN#, +M=70°Td LM=NM &, ar 2N=



550
2.

£ne
3. 30
4. 70°

13)  Which of the following is not the solution of the equation F;x+5? /

frafafad F § Flear TAiewor y= "1 F7 gor 78 87
1. (4,19)
2. (-6,-16)
3.(-12,-37)
4. (-8,23)

Correct Answer :-

Ifz-l-%:lilandax—by:a:— b2, thenx &y =? /
aﬁz+%=ﬂﬁax—hy=az— hzg,ﬂbrxt'a_’}r=?

a(a®+b?)  bfa*+b?)

1 - a*-h* L a*-h*
_a(a®-b*)  B(b*-a%)
= at+hb? o= al+ b*
2.

3. x= a(a?+b?), y = b(a%-b?)
4, x=a, y=b

Correct Answer :-



e= al:az—bz:l - blibz— azjl
T a%4bE o= al+ b*

15) Ifx —|—§= 2 then the value of x —iis:.-'

G x+-=28, d x—- & A &

16) Ty angle which is 24° less than its complement is: /

dg HIUT Sl 9ol GHRS & 24° A b

, o
, 47°
5 33°
L

Correct Answer :-



Find the number of line segments required to make a honev comb structure with 20

compartments arranged linearly? /

as &7 § cmafug 20 &5l e T AYHRT Tad g0 & v 3aas
{EEsT &l T&aT AT 7

1. 100
2. 105
3. 101

4. 120

Correct Answer :-
e 101

18) P ”g and / be the transversal. »1=61° then £2=7/

o ||g @ v T @ §1 21=61° & 22=7

. 6l°
5 118e°
3. 60°
4 119

Correct Answer :-

119



19) 1 a parallelogram ABCD if 2~ CDB=45° and ~DAB=65°_ then ~CBD =7 /
UF FAAY Il ABCD#, Ifg ~cDB=45° 3R ~DAB=65°§, " £CBD =2

. 60°
, 45°
5 B
, 10°

Correct Answer :-

70e

20) A number ‘a’ divides 1320 and 781 exactly. Given a1, then the number “a’ is not a factor of

3
Ud FEAT ‘2’ 1320 3R 781 & qUTE: fAenfara adr 81 a1 fear ma g, ar §ear o

o Hed 6T ol
1. 2101
2. ltself / T
3.539

4. 125

Correct Answer :-

e 125

21) In a triangle ABC if 2CAB=7(F, and AB=AC then #B and »C are /
uF TRl ABCH. afg £CAB=T0° 3R AB=AC®, aF B3R C¥:

80°, 80°
1.

55°, 8o°
5 :

i i b
3. £

207, BO°



Correct Answer :-

B i b

22)

If the sum and product of whose zeroes are 2 and —E . then the quadratic polvnomial is i

g AT 3R 38F YIF F A0 Etfa"—ié‘j-l’raj?ﬂﬁagﬂ?: 2l

= 5

1 5x%—10x —3
5 5x%+10x +3
3, 5x%+10x —3
4 ¥*—10x +3

Correct Answer :-

23) [p2t6_ 24 0 [ afe 2x+6_ -2 %. ar x=

3-5x 3 3-5x 3
1.2
2.1
3.3

4.4

Correct Answer :-

24) Choose the number divisible by 9. /
9 | faurfora g1 areft e &1 99+ oY1
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-



e 4536279

25) Find the value of m, if one zero of the polynomial (” +4)x* +65x +4m

other: /

is the reciprocal of the

afe agug (m* +49)x” + 65x + 4M g7 yes I 3T BT HFHH 2, A m BT T JA B
1. ‘u"E
2. 3

3.1

4. 2

Correct Answer :-

— .3 2 _ 9y _
26) Find the value of m if (x-1) is a factor of px) = x* +6x 2x — Sm. /

qﬁ.p(x} =x3+6x%—2x— M 51 ¥eP (x-1) T, @ m BT T F1d B
1.-2
2. -1
3.2

4.1

Correct Answer :-

27) Find the whole numbers. / Tﬁﬂ'@ﬂ Td P

16 x 8725 x 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4. 87,110,000

Correct Answer :-



» 87,250,000

28) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea

level at a level. At a particular point, it is exactly above a submarine depth of 1/6 the height of
plane. What is the vertical distance between James and the submarine? /

ST TP gaTsoIeTs & 3ieR § ol 9g% ad ¥ 7000 HeX Ft Ha13 R 38 761 31 T faxiv fig v, 9@
TP TGS & 31 FUR & SNl FaATSoIeTS & 1/6 SHdTs fora-T Y% dd & 1 g1 oy Td TIgsl &
a SHeaier g3t fpat 82

1. 8333.33 meter / 8333.33 HIX
2. 9166.66 meter / 9166.66 FHeI
3. 9333.33 meter / 9333.33 #HieX

4. 8166.66 meter / 8166.66 HIeX

Correct Answer :-
e 8166.66 meter / 8166.66 FHeX

29) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay's age is taken as
y, then age of Anil is: /

e 3mg # e & 6 a9 731 31 3@ oMy ¥ fawra & 36 HEH Bier1 31 afe fawa Ft sy y & T <t
STl 8, @Y ifre @Y 3y @

1. 6(y-36)
2. 6+(y-3)
3. 6+(y-36)
4. (y+6)

Correct Answer :-

30) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
gfe 76x — 189y = -37 TH -189x + 76y = -302 B, A x TG y & W Fd B3|
1.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4. x=2,y=-1



Correct Answer :-

. X=21y=1

31) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HETHRGIIT’ 3r3Red] Jared! # ot fsar war ver @ity ord @ ford T ferar mar 81
1. Aryabhata - Il/mﬂz\_cf - 1

2. Sridhara / #IreX

3. Bhaskar Acharya / #TEDT 3T

4. Ramanujan / TATT STl

Correct Answer :-
e Sridhara / #T&R

32) are related to growing plants. /
__ dod Yl 9§ "l g

1. Natural numbers / l,«llti)lraqv TEITU

2. Real numbers / arEd e T&ITT
3. Fibonacci numbers / IEIGEIRECINY

4. Rational numbers / TREAT T&ITT

Correct Answer :-
e Fibonacci numbers / IS EIGEIRECEINY

33) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of
the cuboid is 678 cm?2 , then the height of the cuboid is: /

glguaﬂmaﬁ?ﬁaém: 12 At 3R 9 At B1 A Ty &1 o yHiy AFwa 678 W2 ], o gAY F

1. 15cm/ 15 @&
2. 11cm/ 11 &
3.6cm/ 6 QT

4,21 cm/21 @

Correct Answer :-



e 1lcm/ 11 Q&

34) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

/ Tftreit wfaReuor (avsfeT) & fore w=on &1 S d 3:
1) UY/IHSTd S HSHTI

2) Tifordia faavor iR 3w

3) TR U/ FHRTS BT JHTUTH BT

4) VY /AT &1 TRT HIAT 3R T AT
1.3,2,1,4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

35) The main body of the lesson plan is based on the Herbartian principle of: /

TS TS BT J-T U & gdc Risid IR snutfea g1
1. Presentation / ‘;I"vTjﬁf

2. Conclusion / facey

3. Introduction / IR=TA

4, Association & Generalization / afa 3R grar==fetor

Correct Answer :-

e Association & Generalization / afe 3R grar==fetor

39y3(50y? —98) + 26y3(5y + 7

36) simplify:- )/

T - 39y3(50y? —98) + 26y3(5y + 7
L. 2y(Sy-7)

2. 3y(5y+7)

)



3. 3Gy =7

4. 2yGy +7)

Correct Answer :-
, vy -7)

37) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their
corresponding sides is, ./

a‘rﬁnﬁ%BCQH'DEF TUFY § a4T 3P AABA BT 3JUTd 25:9 &, dl 3D TId YoI134i HT SrJurd
|

1. 4:5
2. 53
3. 3:5

4, 54

Correct Answer :-

38) If mean and mode of a data are 11 and 8 respectively, then median=___ . /
g o 3iFer F AeT AR Sgos waAww: 11 qur 8 § A wftaw = R
1. 10

2. 11

3.8

4. 12

Correct Answer :-

39) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and
AD are respectively 8 cm and 10 cm, then AD=__ ./

TF FAER Tgs ABCD #, DC = 16 4l g1 I Forar ofamd AB @ur AD #r 5=mé waer: 8 et
agr 10 J ¢, A AD = |

1. 16 cm / 16 T



2.12.5cm / 12.5 @
3.12cm / 12 @
4,12.8cm / 12.8 QT

Correct Answer :-

e 12.8cm / 12.8 §aY

40) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of

the last 13 observations is 39, the 130 observation is : /

25 YeTult T ATET 36 §1 IS gger 13 WaTuif &1 ATeT 32 Uwa 3ifaw 13 Yaron #1 Arexw 39 &, ot 13af
aior §:

1.22
2.25
3.26

4,23

Correct Answer :-

41) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

a§ I 41 §, e Rg A(4,3) W@ B(2,-6) F TR arelt Y@ y-3ra7 qawr fanfaa @l §7
1.1:4

2.2:1

3.1:2

4, 4:1

Correct Answer :-

42) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-
west was assigned to the .

sfdea & v ARl w1 fasior F13, gF- ofes # P #d g Fdsdl : @@+ F R
ST qeal : a6 TR F FH, F1 |iar arm




1. Sulbhakars / HodThl

2. Aryabhatta / 3TIHCT

3. Bhaskara / #ATERI
4. Brahmagupta / SIGII[d

Correct Answer :-

« Sulbhakars / gedTeh

43) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the
resulting cuboid is: /

490 Rt A e T T s g AT T W 3 g € o TROTE Gy TR g s ¥
1. 120 cm?/ 120 {2

2. 150 cm? / 150 3h2

3. 128 cm?/ 128 ah2

4,95 cm?/ 95 ¥2

Correct Answer :-

e 128 cm?/ 128 @2

44) Which of the following is an example of a cubic polynomial? /
frfaf@a # @ Fla-a1 uar qgug #1 vF e ¥?

1. x2+x3

2. x2+x

3. %3+x

4. x4x3

Correct Answer :-
o x3+x

45) describes steps or a set of do’s and don’ts to a method or strategy. /

t# A a1 Eifa & @Roit a1 At F F v TE F FT g FIGT Bl



1. Technique / deheilch

2. Tactics / gﬁﬁ
3. Method / AT

4. Approach / SUTITH

Correct Answer :-

« Technique / ddhelleh

46) The equation of line passing through (2,3) and parallel to x-axis is -

39 Y@ &1 HEr ¢, ST (2,3) @ XY TORCT § dUT X-38T F AR g

1 x=2
5 X =2
3.V =3
4,y =73

47) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What
does the three points joined together make? /

fie aat A, BUa C & wafta ¥1e &3 (3, 2), (6, 5) 3R (9, 8) &l et faeg ver @y frera &7m et
4

1. An obtuse angled triangle / T& 3BT FFYS
2. A line segment / T W1 TS

3. An equilateral triangle / Th THaTg YW
4. A right angled triangle / T& JH&I Y

Correct Answer :-

« Aline segment / & AT TS

48) One among the below does not belong to creative behaviours and that action verb is ./

feT & FoF EATeHS SIaER @ Waey 7 @dr ¢ 3R TF Braens e gl



1. reconstruct / g?ri?mﬁw
2. design / ®TdheT

3. compare / Jefell
4, alter / aRada

Correct Answer :-

* compare / Tl

49) The radius of a circle whose circumference is equal to the sum of the circumference of the two
circles of diameters 36 cm and 20 cm is .

F ga i B ¢, ot aRfer 36 @+ @ur 20 |+ =T arer & gAl F IR F AT F
T B

1. 56
2. 24
3. 28

4. 14

Correct Answer :-

50) Three-dimensional topology is a branch in mathematics which is more related
with ./

e smare wiftyfy (@aetsh), Toa A vrararg s aOwwEfRa
1. Biotechnology / Std Gl farchr

2. Economics / 3R

3. Chemistry / THTIA fa=TT

4. Physics / $ifae fa=ira

Correct Answer :-

. Physics / 8ifaes =T



The major aim of mathematics education is: /
IO FRI&TT T IT& 32T &
1. Preparing for competitive exams / Ufaaeft &3t & forw R sdar

2. Mathematisation of the child's thought process / g & faar uferar &r
IoTTeRoT

3. Solving problems / qﬁﬁw

4. Improving computational skills / TTOTATCHD qﬁ?fﬂﬁ{[‘iﬂ'\r CRGI

Correct Answer :-

« Mathematisation of the child's thought process / god &1 faar ufehar or

52) ‘Micro teaching is a scaled down teaching encounter in class size and class time’
was stated by: /

HATSH TNETOT, F8T1 & FR T FaTT & FA7 # RNaror o fragerary’, s8_
% SdRT gl 4TI

1. Piaget / TOaTat
2. D.W. Allen / 81.3¢e, Teld
3. Gagne / X

4. Bruner / X

Correct Answer :-

. D.W. Allen / 31.3¢6y, Teld

53) Which of the following is considered as the most suitable approach in mathematics curriculum
organization? /

farafaf@a & & Fd J1f0ra areasha sgavdr & W@ 3UYFd TREHIOT AAT ST 82
1. Psychological / HATI=ATIADR
2. Topical / TS



3. Unitary / UdblcHDb

4. Spiral / gide

Correct Answer :-

e Spiral / after

54) Which of the following is related with Cognitive Domain? /
frafaf@a # & sl FaeTeAs & ¥ wefta 2

1. Valuing / A8@ &1

2. Applying / ©ITI] HIAT

3. Receiving / IGUT BTl

4. Responding / wfaforar &ar

Correct Answer :-

* Applying / ©ITI] hAT

55) Which of the following aim of teaching mathematics help the individual to become self-
reliant and independent? /

AT Tee F FFafafla segeat & F Fla @1 358w, AfFT # areAfasR 3k T
T A AGg FIAT &2

1. Disciplinary / 31IRMAATCHD
2. Utilitarian / 3UTafy

3. Cultural / HREPIAD
4. Social / HIATSID

Correct Answer :-
« Disciplinary / 3{JMHATcHD

56) Item analysis is a quality assessment strategy to prepare ./
Te fazayor TR F & T T urawn geaid- oM 81

1. Question bank / ¥4 &

2. Evaluation / #Hedidhel



3. Examination / G{Y&T

4. Student performance / EIER LR

Correct Answer :-

+ Question bank / U d

57) Express 486 as a product of powers of prime factors. /
486 DI AT U] & ITd & UHHA & U § Fad BN |
1.3°

2.12x 53

3.21 x 35

4.53 %2

Correct Answer :-

o 21 x 35

58) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If
he uses 6 photos, then what is the area of the wall? /

Siia9 9 3MUA R P Th AR &1 WY gRT o TS TR A WR a1 v iR &1 e 21 I x
18 9 21 afe 98 6 IR &1 ITANT HaT 8, it AR BT &TFd fhd-r 82

1.2068 sqcm / 2068 TIHHAT
2.2268 sqcm / 2268 TIHHAT
3.378 sqcm / 378 I @

4.2334sqcm / 2334 TIIA

Correct Answer :-

¢ 2268 sqcm / 2268 TIHAT

59) Area of a quadrilateral ABCD is 35 €M The length of the perpendiculars on its diagonal BD
from A and D are 3 cm and 4 cm respectively. Find the length BD. /

TgYs ABCD &7 &% 35 Q12 21 A 3R D A 39 fawvf BD W &a Ft dars wu=n: 3 At ek 4
Il 21 BD &) waTS F1d B

1. 10 cm / 10 G



2.15cm/ 15 3
3.25cm/25 QY
4,12 cm/ 12 @

Correct Answer :-

e 10cm/ 10 @

60) y¢x” —3x+ 24 5 factor ofx‘}_mf2 T4 then find the value of ¥ and 7 /
af x* —px? +q$TWx2 —3x+ Z%IH}P@TG‘WWW@—M

1.p=5,q =4

2.p=4jq =3

3. P=249=1

4.p=3,q =2

Correct Answer :-

p:SJq:il-



